B.A./Part-1I/Gen./SOCG-11/2018

WEST BENGAL STATE UNIVERSITY
B.A. General PART-II Examinations, 2018

SOCIOLOGY-GENERAL

PAPER-SOCG-II

NEW SYLLABUS AND OLD SYLLABUS

Time Allotted; 3 Hours Full Marks: 100

The figures in the margin indicate full marks. e FE FIZ KNG 207 [0 P
Candidates should answer in their own words ARG fAcers SR TR ST TN WY
and adhere to the word limit as practicable. Tes FR1

NEW SYLLABUS

Group-A
Rent-5

L Answer any one question from the following within 1000 words: 15%x1 =15
RS @-@ial @i ev Tea e Sooo LR e

(a) Discuss the emergence of sociology.
INESIGA TE TG I
(b) Discuss Spencer’s organic analogy.

CoTICER (ol SR Oglb ST I |

7. Answer any one question from the following within 400 words: 5x1=5
e @-@ieat @3 e evsm Teawie 8oo =Twa W

(a) Spencer’s ‘Social Darwinism’.

CFANER e TReETm |
(b) Describe Auguste Comte’s positivism.
(g (Flod orEam |
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Group-B
fetat-«

3 Answer any ene question from the following within 1000 words: 15x1 =15

fasfeie - 96 deta TEa w8 Yooo *HY NHjs

(a) Write a note on Max Weber’s ‘Protestant Ethics and the spirit of capitalism’.
I CTRIER 2GBTS NS @ St Brapieaa 7 @ Bt @t

(b) How did Karl Marx analyse class and class struggle?

1o R eI @t @ EHAPRENN A0 FTACE 2

4. Answer any one question from the following within 400 words: 5x1 =35
fafeRe @-cie 3o @t Tea we 8oo w3 Wx:
(a) What is solidarity in the view of Durkheim?

AR e Sl e wefe)

(b) Historical Materialism.

afefie agam)
Group-C
feetol-at
5. Answer any one question from the following within 1000 words: 15x1 =15

frferfe @-@Imt @ fb erea Tea v Yooo 33 W
(a) Discuss functionalist perspective.
feraria e S FEi

(b) Write a note on interactionism.

fRefEarice Sy sl Bist @

6. Answer any one question from the following within 400 words: 5x1=5

fsfeie @-@iE 96 et Teg wie 8oo @ WHjs

(a) Merton’s contribution on functionalism.
W67 fFaraim sawie )
(b) Basic concepts of conflict perspective.

74 STGE 1 I8 |
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e 3 Answer any one question from the following within 1000 words: 15x1 =15
fsfeiie - @l evia e e Sooo =Twd T

(a) Discuss the Micro and Macro tﬁcory on Indian Society.
SRS WATE Soin g @ e og wiEnl s

(b) Discuss structural-functional approach in Indian society.

SIS T T FIIC-TFia 7R w1 st

8. Answer any one question from the following within 400 words. 5x1=5
fasfeie -t @i eivea Tagwie oo Wrwa W
(a) Study of sociology on Indian society.
SIS TG (2 GO b6 |

(b) Marxist approach on Indian society.

SRS TG T2 NI 7B |

Group-E
Retal-g

9. Answer any ten questions from the following within 50 words each: 2x10=20

Al @-cie wiff avta Tz we 2fefh ¢o @@ s

(a) What do you mean by Enlightenment?

@l RS <eTs & e 2

(b) What is mechanical solidarity?
i wzfe & 9

(c) What is surplus value?
ey

(d) What is Super Organic?
wfetes @ 2
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(e) Name two major works of Spencer.
CoAAICER 0 ©F LT

(f) What is Rational-Legal Authority?
iz IeTre oY

(g) What do you mean by egoistic suicide?
e e & ¢

(h) What is Manifest function?
o0 fFm @ e

(i) Name two thinkers of Interaction perspective.
fRefErarif ergg 1o e m e

(j) What is Macro theory?
ffRer og & ¢

(k) What do you mean by doubly compound society?
fRere 360s & @Il ¢

() What is meant by class struggle?
o) it TS & i ¢
(m) What is social fact?
e <ol & ¢
(n) What is collective consciousness?
e & ¢

(0) What do you mean by base and super structure?

ofe e Tofa Gy 3ems & @l ¢
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WEST BENGAL STTE UNIVERSITY
B.A. General PART-II Examinations, 2018

SOCIOLOGY-GENERAL
PAPER-SOCG-III
NEW AND OLD SYLLABUS
Time Allotted: 3 Hours Full Marks: 100
The figures in the margin indicate full marks. fe T g wYe ’fﬁ?ﬁ Ao Fe31
Candidates should answer in their own words o Frmrda [Rres rF IR FET FEANNT Y
and adhere to the word limit as practicable. Bew FhT 1
NEW SYLLABUS
Group-A
feot-=
L Answer any one question from the following within 1000 wgrdé T 15x1=15

frfelRe @-@E wofh de TEa WS Sooo WEE WS

(a) Define village. What are the characteristics of rural community in India?
AT TG IS | SIS alfifel Freewica (ARt [ R o
(b) “Population Explosion is the main problem of India”—Discuss.

ORI SRS o1 T — WA I

2 Answer any one question from the following within 400 words: 5x1=35
e @-GIE @i et Tea w8 8oo L g
(a) Write a note on rural-urban linkages.
altsT @ *12red TR Bein @ Bl el

(b) Write a note on ‘Population Control Programme in India’.

SR TR AR FEHR Boia 3l Bt e
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3. Write any one question from the following within 1000 words:

fefRe @@ 9o 2eia Tea wie Sooo *IFF WS

(a) Discuss the process of the development of national identity in post
independent India.

FRAIEH SRS Trer “fea Rair efenfs wiewt s

(b) Who are Dalits? How are they economically and socially exploited in India?

e PR 391 20 ¢ SRS et fFei udtafes ¢ wmifess e e oiiffe ¢

4, Write any one question from the following within 400 words:
frsferiRe @-@itt 3o elvsa Tea wie 8oo =3 Wwe
(a) Discuss the social status of working women in India.
SRR Il MR At w2 fAea S FEh
(b) What are the problems faced by minorities group?
IR w6 ey TgRa @ o

Group-C
festat-at

5. Answer any one question from the following within 1000 words:
afeiRe -t @3 eiva Tea wie Sooo wd WS

(a) Define caste. What are the factors responsible for changing caste system in
India?

wifen W wie | SReard Tifs-2e st FrderE 7 o

(b) What do you understand by family? What are the reasons behind the
breakdown of joint family?

+f2ara =e B @It 2 (A o e IRt R [ e
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6. Answer any one question from the following within 400 words: Sx1 =95
fEfrRe @-@Al 16 2es Ted wie 8oo (I WA
(a) Differentiate between caste and class.
&ifs @ @ s~y ot s

(b) Discuss about major social legislations of marriage in Indian society.

OIS HACE 12 AT L T SRS SCET T |

Group-D
fet-1

¢} Answer any one question from the following within 1000 words: 15x1 =15
frafeie @-@ @i 20 Tea e Sooo M THe

(a) Write a note on the change and transformation in Indian society.
SIS TR AR ¢ FAETad Tz @i Gidel (+Tedl|

(b) Discuss about the rural development of West Bengal after Independence.

FRTOR 78! BReAd AR AN THST S0 WCEHA Tl

8. Answer any one question from the following within 400 words: 5x1=5
fsfERe G-t «fb 2v Tea wie goo =3 s

(a) What do you mean by ‘civil society’? What are the influences of civil
society in the development of rural society?

PN TS 0 6 G 9 @ltfiet STT 16T e Feer eerets & & o

(b) What is Composite Culture? Write shortly on evolution of composite
culture.

S (Composite) E® & 2 i (Composite) o AR €=t FRTFA
(=Tedn

9. Write short notes on any fen of the following within 50 words each: 2x10=20
fAsfRe Q- 7fog e T e 2Af6fl ¢o =3 s

(a) Define City

ISR RN
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(b) Rate of fertility
AT YA
(c) Differentiate between hypergamy and hypogamy
S 6 et R g =14y
(d) Ethnic diversities
wifore Ricwe
(e) Social Mobility
Aifere Aperel
(f) Kinship
el
(g) Dominant caste
wifRereie @
(h) Define religion
qofa el
(i) Globalization
=
(j) Define Varna
el st
(k) Domestic violence
Qe
(I) Define marriage as a social institution
AR efst R ez =@
(m) Any two bases of unity in India
SRS @-IE1 46 G fofe
(n) Define culture.

TSR el |
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